
Subject: Re: Choke capazitance, round 2
Posted by Damir on Tue, 28 Mar 2006 11:42:13 GMT
View Forum Message <> Reply to Message

If I understand you correctly, with self resonance f~1kHz and L~650H, we can expect:Cw = 1 /
(4Pi^2 * f^2 * L) ~ 39 pF   Can you explain your results / findings in more details?

Page 1 of 1 ---- Generated from AudioRoundTable.com

https://audioroundtable.com/forum/index.php?t=usrinfo&id=127
https://audioroundtable.com/forum/index.php?t=rview&th=6033&goto=31848#msg_31848
https://audioroundtable.com/forum/index.php?t=post&reply_to=31848
https://audioroundtable.com/forum/index.php

